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01 Today’s young people belong to the so-called “app generation” that depends on
apps for almost everything.

2F HS AEUSS 7ol BE XS 0 OF5H= OIZHH Y Mol £3ict,

02 However, young people’s increasing dependency on apps is causing many
problems.

T2t FH2 AlHEC] Holl thet SIE=71 =0 w2t B2 2XI7F edsta QL.

03 First of all, the excessive use of apps makes them more and more impatient.
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04 Being accustomed to using apps that give them prompt results, they expect every
aspect of life to be quick and readily available.

JS0A S| Aus MiSal FE WS ABshs Ol A=iMM 52 4| 2= HE iEY 287 018 £ US 7{2ta 7|chatch.
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05 When they are faced with problems, they don’t bother to come up with new ideas,
either.
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06 Forthem, it's easier to just use Google to look them up.

a0l BX| 22 AREs10] 010|C|0E Sh= Aol of Lk

07 Educators are worried that young people’s addiction to app technology may limit
their potential, turning them into zombie-like individuals who can’t think for
themselves.
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01 Cancer is caused by unhealthy lifestyle such as eating acidic or junk food too much
and not exercising regularly.

A2 LY AZO0|LE F3 RES LT Ro| ML FEINO R 25S sIX| i S 220 si22 UE WAooz Qls| WHMSICE

02 If we continue with this kind of lifestyle, toxic materials will build up in the body

tissues, and eventually block the blood flow in the body.
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03 The affected parts will start to rot because normal body cells cannot survive
without oxygen.
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04 This is where cancer comes to our rescue.

0|Z{0| 20| 22|15 Fsl2| 2= ZL0|ct

05 As a defense mechanism, our normal body cells will transform themselves in
order to adapt to living without oxygen.
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06 These new cells are none other than cancer cells.
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07 They use the toxic materials to create the energy needed to keep the body tissues
from rotting.
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08 So, contrary to our common beliefs, cancer is like a first-aider who comes to
rescue us in an emergency.
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01 Throughout world history, rulers always had great philosophers by their side to
give them advice.
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02 Nero was a cruel tyrant and forced Seneca to commit suicide when his teachings
became an obstacle to his rule.

H=z= FelIs Z70|U% MUi7te| 7t230] 2| SX|ofl Fol7t =[xt = stoig AHISI=S JHCt

03 King Henry VIl of England was often given advice by philosopher SirThomas More.

F=2| Ai2| 8M| = SF HalIXIQl EOtA 20] Fe| S LY,

04 In China, there was a great philosopher named Confucius.

Z20ll= ZXI24T OIS X|0f%! SIchEt RBIRE} UACE

05 He spent his whole life developing and teaching the proper way to govern a state.

J= I7IE Sklsh7| #ist et WHS JHdsiu 7IEX|= o QS 2o

06 However, Confucius never found a ruler who would accept him as an advisor and
put his teaching into practice.

JEiLt BAK= S FOIXIE HOKS0] I0| JI2AS MHETA HH SXXIS K| 2UCH

07 Considering what happened to European philosophers, however, Confucius was
lucky for not having been persecuted by any rulers.

JeiLt REe| ZEIXISoH Lot ¢S TS mf X7} o SXIXIS0H|ZH = BishS BX| 52 A2 20| E/UCL
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01 Did you know that about 2,000 graduates of Eton College, an elite British school,
were killed in the service of their country in World War 11?7

L2 M2XE MIA| ™ Al =2l H=2 Stwol 0| Z2|X|e| °F 2,000F2| EXM0| ZFS 2lehM SIMEIRACHE AS LU=TI?

02 Noblesse oblige has its roots in feudal Europe, where it referred to a sense of
obligation that the nobility had toward the workers.

CedlA 25dF= S FEHO I 25 F1 U2H, H7[0M RS2 FEO0| LSt 2= R AS 2|of3ict

03 Workers had to hand most of their crops over to the nobility.

CSAES HRE2| SHES HES0IH L=shof MLt

04 The nobility, in return, was expected to provide them with land to farm.

FSES 1 2 IS0 ZXE HE NB3H 20| HIEPH OHC

05 These expectations were understood rather than stated outright in the documents.

0[2{3t 7|ch= ASFHRI H0|X| EMol| SAIE 20| OfL|UCE,

06 These moral obligations of the rich toward the poor became known as “noblesse
oblige”

Zicreh ARZES Ol LSt 2£XHS2) 028t =HA 92 = eEA QEEIFE UBK|H| EIACE

07 Today, we express this idea by stating that “to whom much is given, much is
expected.”
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01 Many physicians automatically prescribe aspirin or a similar painkiller to patients
suffering from a cold or flu.

B2 oMS0| Z7|L SHe=z nES Fi= XS0 ofALZI0|LL HIE ZISHIE FelAlxoz XHYUSITH,

02 According to Darwinian medicine, such a therapy may have an effect opposite to
the effect intended.

ZIgt olstoll =M, T8t X2 H2 o|=F Suiet Milkl= FuE ¢ o= QUCk

03 In addition to easing a patient’s discomfort, aspirin also lowers fever.

OIAT|2I2 Bixje| EHEIS A= 7l=E A 2lol= S RF7|= BiC.

04 However, scientists have discovered that a moderate fever is one of the most
impressive defense mechanisms of the body.

J2{Lt atsixiS2 Heet Fo| AAL| 7HY QI Boi7 (x| F SHtUS LM

05 According to their findings, a higher temperature stimulates white blood cells to
race to the site of an infection more rapidly and kill the virus.

T Zulof MEH O 22 2E= WHTE slojg @5 F2I= o M2 ST Hio[2{AS F0|=5 XIS3ICt.

06 A fever also stops the growth of harmful bacteria, which, unlike white blood cells,
become inactive when exposed to heat.

E2 Lot =2 YiE|2|ote| FEE ak=C, o] Bie|2|ok= et el Hofl LEk5IH HIggshEct

07 The bottom line is to allow the body’s defense mechanism to carry out its mission
instead of taking medicine to reduce a fever.

RX= E2 L217] flal &S S85k= ol Z2f o7 |x7t aZie| YRS slsiAl sh= Holch
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Stress has long been fingered as a killer, but the fact is that most stress, including
constant worry, is not fatal in itself.

A A= QAUFSO ARIXIZ XISEUXITE AHY AHFAE 2ot iR Ee| AERA= O XIHIE XIFEE0|X|= fich

A person who finds himself constantly screaming at the people who irritate and
annoy him is the one who is at risk for heart trouble.

RS MSLA st H7HAA FL= ARIS0IA| 2810] T8lS XI2= A2 AE EA7E AS I-oll Xah ACH.

The rushing-around workaholic is not at risk as long as stress is not a stimulus for
anger.

=56 FlofCiL= & S=Xk= AER|ATL E0| XFHI7t EIX| oh= Bt {20l *stR] efi=Ch

He noted that more than 15 percent of the 25-year-old doctors and lawyers who
scored high on hostility tests were dead by 50.

J= 20 ZAM =2 B B2 25M(2] QAR HSALE 15% 01440] 50MIZ0l AfURUCI XI=FACE

The message to all you hot-tempered types is simply this: If you want to live to a
ripe old age, cool your anger.

35 & U= 2= MESIA Msh= HIAX|= ZiEhs| 2al ChSat Zict ot AChH SIS Asial.

WORKBOOK | 09

202l c{A—sHoa— Level 9 0HF—uT1(001~064)OK.indd 9 @ 2020. 10. 16.



® HEp.53
O CIS Z 2ol A2 SXjoll F2I510] SHASIAIL.

01 Throughout history, farmers have always set some seeds aside from their crops so
that they can plant them the following year.

HAIS ES0| SRS Y TS 5ol 2Zto] MOl2 A2 4 IS I50| SXBUM IUSS U2 BISHTUC

02 Now, giant seed companies such as Monsanto, DuPont, and Syngenta have halted
this practice.

O|%| Monsanto, DuPont, 12|17 Syngenta2t Z2 7{tist X} ZIAS2 0[2{8t HMES STHAIZICH

03 They have created GM seeds by modifying the seeds genetically.
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04 These GM seeds grow very quickly and are resistant to pests, so farmers prefer
them to their traditional seeds, which are easily affected by harmful insects.

0|21 GM SXh= i 2| Xf2tx siE0 XM2i=o| LoiM, SFE2 siS0ll &7 LishS B e MUECH IRNSS o MSsict

05 But the problem is that farmers have to pay royalties to use these seeds every year
because the seed companies own the patents.

J2iLt 2xl= SAL SMS0| ESEE ARsId 7| H20l| S2IS2 i 0] SAES A5 | flsi S517 ARBEE XI=aH0} sith= X0|ch

06 Another problem is that the GM crops produce lifeless seeds, so even if you plant
the seeds, they don’t sprout.

I OIS M= GM SEIE2 J2 NS 2HE0] LM, G410] T MIStS M=Cta SlEjats aRS0| 42 LiX| §5=Ch= Z0|ct

07 In India, poor cotton farmers were in debt to the giant seed companies.

QU=0i|l A 7Ykt F3t xhHl STIS2 HLigt SXE 2IA0l| LS RCL

08 They couldn’t pay their debts, so hundreds of thousands of farmers committed
suicide.
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09 The tragedy of Indian farmers made the world rethink about GM crops.

2= STS2| HIF2 Mol GM SZHE0 Chal Riai=H| SHC.
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01 Sure, we've all heard the advice: “Follow your passion.”

SEol0| R2| BE= ghlo| ¥ mEal '2h=s 2212 SORCL

02 It's great when you hit the jackpot and find a career that melds your strengths and
passions, and where there is demand in the highly competitive global marketplace
of today.

20| ChtS E|=a| of2iR 0] 2t SHS 410] F= AUS WS 1, 12|17 R5H0 0FF ZAM0! I AR +271 U= Z20l A2 EESICL

03 But if your goal is to get a job at the end of the rainbow, you must distinguish
between your major, your passions, your strengths, and your career path.

JeiL} of2f=e| SHI FX|7H2| E0f| U= URIZE Bi= HO2HH, K222 X FS, 2, ZHS Ti=et FEsHozt Jict.

04 Studies show that the best career choices tend to be grounded in things you're
good at, more so than your interests and passions.

A= 7R E2 A MEI2 of222| S0let EFECH o21=20| Hoh= Aol of 7|8t F= ZE0| /UEE B FCL

Tl

05 Ideally, you want to find a convergence of your strengths and your values with a
career path that is in demand.

ooz AUSHH, Of2iE2 27t U= TIZR0|M o2{E2| ZEt 7ix|2e| SRS LisHof Sict.

06 Your strengths are your core, your hard-wired assets.

of2i=2| ZE2 o222 0|, of2i22| stES0fol| LixHE X|ito|Ct,
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01 In 1962, James Neel, a world-famous biologist, explained how modern obesity is

related to evolution.
1962'40]| MANMCE FHSH MESIXIQ! James Neel2 SiCi2| H|PHO| ZISIQt OffH 20| U=X| MHIHCE,

02 According to him, obesity was essential to humans’ survival in primitive times

when food was not always available.

J0i| of5HH HIZH2 AM2kS S T 4 RAUE HA| Alclol| 217te| M=ol X

As a result, they evolved to develop the “fat-saving genes,” which stored fat in

03
their bodies to prepare for times of food shortage.
1 Z3p OS2 K ME ST UHGIES Tisilia, OR2 Algho]| 255t AIZIE thHlsH Soll XIS MERACH
04 In the 21st century, however, food is now abundant, so the fat-saving genes are no
longer needed.
aziLt 21M17]0ll= Ofx| AlZko| SFaiM XL ME /EXIZE G ol HRSEX| §ICt.
05 Still, these fat-saving genes, commonly known as thrifty genes, continue to exist
and work within modern human bodies.
Tz 23| Hof REXIEID AT o] XY ME RTXh= o{ZIs| Sichele] Q1| LHoll Al ExHstHA ZHEata UCH
06 Compared to 2 million years of human history of hunger and food shortage, the

last 100 years of food abundance is too short.

F2|0 AlZko| SEUH 29t 19| QI HAloj| HIsH Al2to| SFst Xl 1002 LT AT

07 Therefore, the genes did not have enough time to adapt to this sudden change.

J282 1 {FXE= 0[2{3h ZEIARR2 Ml M3E AlZI0| S=5IX|
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01 YOLO is short for “You OnIy Live Once!”

YOLO= ‘You Only Live Once’?| EUZ0|C}.

02 They spend money on things that can bring immediate pleasure like sports, travel,
fancy dinners or fashionable clothes.

OS2 AEX, o, HE M MALE MiZE 21t Zo| Z2XQ1 EXZS XL E 5 U= NS =S AH[EICL

03 Many young adults have difficulty finding jobs even if they are highly educated.

rlo

F20|50| mstHol|= E7tot UXIEIE = ol ofAZS 20 QUCk

LS

04 In addition, housing prices have risen sharply over the last decade, so young
adults feel that buying a house is simply not possible.

ACE7E X 101 St el 71240| 55| &5st0] FH201S0| S Folilsh= 20| 23 7kssHR| Tt L7Ict,

05 Therefore, instead of wasting the best years of their lives saving money just to
secure a tiny living space, they prefer to spend money on unique experiences
which give them immediate happiness.

[Epd IS OfF XS ME 2712 Hwg 2 moy| s TS0 QMM JH B2 LIZES HHists tAlo) 2507 S2x0l
@=2 = SHE A7) =2 At % Msa

06 However, the YOLO way of living is criticized by the older generation, who focused
more on financial freedom and future stability.

J2{Lt YOLO2| Mg A2 o2 McHSolA HIES =0, 352 A xtwet 0jzie) Pyl o =1
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07 They tried hard to save money to the point that they ended up missing out on
many great experiences in life.
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08 People should choose what they believe is the most important to them.

AlZE2 3S0| 710 aS0A 7FY 528t AS MEistH Fcf,
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01 Whoever wins the war gets to write history.

HHOIM 017 [= Ah= 7= SAE 47 Ech

02 Winners decide what is good or evil.

-

SAh= 20| MRIX| L= ARIX| AFBICL

my

03 For this reason, history is often full of distortions and one-sided views.

02 0IRZ, HME F5 Tt BEE AZOE JIS3ict,

04 So-called historical facts are determined by the winner, so if the winner changes,
the facts may be completely altered.

22| AN AH0|2h= AE2 SXt0l| Qs ZHEISE, SXI7FHIFH T (FAFE) AH2 28] Zabs & It

05 For example, if Lincoln had lost the Civil War, he would have been viewed as a
national traitor.

OIS S0, 2210| =5 T TIHACHH, J= =71 HExt=Z o7A4FE AOIC.

06 If Japan had won World War Il, many American officers would have been
considered war criminals for killing hundreds of thousands of Japanese civilians
with atomic bombs.

-0
0

1]

0| 2%t M CHEIOIM S2IS SQACHY, B2 012 FWS0| YK ZEto= A48t Zo| Aol BIZIoISS Msfst MEHED 21

i

07 Sometimes people who win in one era would lose in another and vice versa.

ZH= Bt Alcol| S2I5H= ARIS2 CHE Altofl mhstr = st 11 Bitho|7|= Sict.

08 Therefore, history is bound to be continuously reconstructed and reinterpreted by
all sorts of people with different motives.

J282 A= BIEA| OHE S7I5 71 71X |1ZMbe| AltSol| Qs XExe= R E|u xhsiAEIcH
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01 The emotional brain, called the limbic brain, is responsible for your feelings, such
as anger, fear, or love.

HAARIY E2|= M HE 2, TS = AlZin 22 ZES "HESIL

02 The thinking brain, called the neocortex, is responsible for logic, reason,
imagination, and language.

Am|Eofat Edl= MM k= =2, 01y, &
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03 The emotional brain is much more powerful and influential than the thinking brain;
the emotional brain is like a ruler and the thinking brain like subject.

M L7t AT EECH 2N 23t Fezio] UL £, FM Hi= SXIXleE 21 Al k= Msiet 2,

04 If you just appeal to their thinking brain, you will likely get nowhere.

S410| O =2 Atxl o] SABICHH, 42 olF 2 =F0| X| ¢S 20|,

05 Using logic only may help you win the argument, but it may hurt their pride and
provoke their emotional brain.

=ajate ARSI HS =H0IM 07| His £20| B 4= XIS IS0 RIEMS ASHl st BM kS X3 4 lct,

06 When their emotional brain takes over, it paralyzes their thinking brain, the area
that is responsible for logical thinking.

HAM E7H (HE) FetslH, IS =218 Mg 2Eshs FHRI At K|S oH|AIZICH

07 Therefore, when you want to persuade someone, try expressing your thoughts
and feelings calmly instead of relying on logical reasoning alone.

T892 SIS M5 A4S T TN alx 2|8 QESHs thalol ARI0) 42 2

o
o
o
]
ok
gII:
HT
u

08 If you don't criticize them or provoke their emotional brain, you have a better
chance of changing their mind.

Dlot EhMO| IS HIESHILE B IS AFS5H| SO, SN2 TS0 022 HEE 4 Qi THSM0| o HOICt,

0
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01 If you open any motivational book, you will hear all about the wonderful powers
you possess and the amazing achievements you are capable of.

ol S7IF0 =M= EX|7 |2 slH, G4I0] 7IX| 2 b= s2k2 S2ut G410 015 = U= hErs F=ofl Cist 2= XS S2E AoIch

02 It is true that you must believe in yourself.

X7| Xplojl chsh 2SS 7180k B2 Atddolc,

03 But an exaggerated sense of your capabilities is no more valuable in the long run
than a limited sense of them.

Ol

JaLt ghlo| Sof st abEkE LA(a)2 ZZoll= (0FR]) 220l st xhe SZ(SSZ)0l 71XI7E SiX HRI7 gick.

i

04 You should not try to convince yourself you are super-human.

05 You will push yourself to failure by claiming too many strengths.

06 Such an attitude will ultimately weaken your confidence even in the areas that you
do excel in.

J2{3t Bl 2= G410] FHERE Fojh ZOIIMER XRMZS ofstA| & 4 QAL

07 Remember that your best confidence is based on a realistic evaluation of your
abilities, and it highlights the path to all your dreams.

Z|mo| Xz Eile| S=of| et AXEIQl HIIS ECH=Z slok 5iH, T7d0| Ghle| 2= Bo= Jk= ZS Wal & 72k= XS 7I1%sizt.
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01 In nature, plants and animals depend on each other for the things they need to
stay alive.

RietolA= ATt S20] Moky| SisH I50| WRE SH= HS AT M2 OIX[BICY,

02 One good example can be found in the relationship between acacia trees and their
resident ants.

8 7HX| £2 o7t OF7FAIOF LIet T1320fl 4F3H= JHO| Ato]2] EA|0fl A UZAE 4~ QUL

03 The ants eat the nectar produced from the tree's trunk and leaves.

JHOIS2 LIS 2712t oM 2HS0{X|= S H=Ct

04 So what does the tree expect from the ants in return for this special present?

JYCHA LIRE o] S8 ME0|| thgt th7t2 JHojoA FRXE J(chsh= Z017?

05 The ants are very aggressive against all other insects regardless of its size.

JHol= 3 37|2t Aglo] CIE 2E 2EE07| ii<* SZ=o|ct

06 So when ‘enemy’ insects attack or invade the tree, the ants climb down the trunk
and bite them fiercely.

TN & 2F0| LIRS SAs7iLE 2EsHH JHols LR £7IE et INSS WHs| S0 K2k

07 Studies have shown that acacia trees without any resident ants suffer more from
attacks by harmful insects compared with trees hosting the ants.

70l EH 7407} MAISHK| gd= OFFIAIOF L= JHO|7H MAISHE LEFet HwshM siEe| SZHe=RE O 0| uS7H=Ct.

08 Researchers have concluded that the ants are like loyal fighters hired by their
house owners.

HFHS2 JHolS0| FFlol ofs uEE SHARR TAIR ZCia ZES LHRICH
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01 In 1346, Edward lll, the King of England, surrounded the French city of Calais with
his army.

13461, I A2l 0ERE M= 12| o= Z2A EAQI LS HR|JUCY.

02 However, they could not get through the English army, and starvation eventually
forced them to surrender.

JBiL OS2 S22 S 017 & iy, FFECR Qs 2= ==l =IUCH

03 The king offered to spare the people of the city if six of its leaders would surrender
themselves to him, presumably to be executed.

2 Tk 62| X=X AAZ SHESI0] A0 ZshX|H T MRISS AHFICHT ML,

04 The king demanded that they walk out wearing ropes around their necks and
carrying the keys to the city and castle.

2F
S

rlo
]

SO0| HHES F0 0j2 3 =AI2go| FAE X|H & 2o L= HE 27

05 The nobles expected to be executed, but their lives were spared by the intervention
of England’s Queen, Philippa.

0 HES2 XS 20[2t HUYRIEL 50| 22

rlo

S= ol Za|utel JHglez FeiRCt,

06 She persuaded her husband to show mercy, claiming that their deaths would be
bad luck for her unborn child.

J4= OS2 Z20| el E22 7MLt & & ALt FYoHAM, HEHE 45510 ZHIE HIEES SIACL

07 Five hundred years later, the citizens of Calais decided to erect a statue of the
nobles to honor them.

500H0| Xt 2of Za|2f A2IS2 O HESE 71217] flol ZZYE M7= ZF3ACL
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Do you remember what you ate today?

25 B2 22 JIERILIN

mr

| bet it takes a moment’s effort.

(Z1945k= o) otat AjlZto| & ZHS AYLICE

If provided with the right cue, like where you ate it, or whom you ate it with, you
would likely recall what had been on your plate.

0| IS OICIM HU=X| FE= IAS ot HAU=KIR 20| S TA7E FOITICHH, G2 FAl| FX0| QUR=X] 7|98 71540l =SUCL

It's difficult to remember last week’s lunch because your brain has filed it away
with all the other lunches you've ever eaten as just another lunch.

K| Z=0f H2 HuS 71517 7} of2t20, SLle| k7t A I CIE Mo A Slo| XS7HK| HIAH CIE MaSul | W= XMW | = Ut

When we try to recall something from a category that includes as many instances
as “lunch” or “wine,” many memories compete for our attention.

S2[7H e oLt ‘eterat ZHo| A7} BIHE FHEmalolM RIS HE2H g o, B2 719S50| R0 FF2S oy ZWS BiLich

s

The memory of last Wednesday's lunch isn’t necessarily gone; it's that you lack the
right hook to pull it out of a sea of lunchtime memories.

K|zt 22 Fo| 7|o| ARRZKE! 22 OFiLct, FaAZIo| st 7|0 HICt=RE 1 7| BojUi= ZiEst TM7H 22517 | hELIct,

® 7ZE p.55

WORKBOOK | 21

20 2| c{A—tHoa— Level 9 0HF—uT71(001~064)OK.indd 21 @

2020. 10. 16.



A cie of ClojLt EEle] Qa2 £2 MAR,

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

20

flood
trigger
mere
revive
whereas

crawl

work one’s way back to

perhaps
fortune
passive
warn
surrender
emit
marvelous
turn to
get rid of
caution
pedestrian
turn out

reasonable

22 | READER’S BANK

(71242) Elakzlct

~0l il

—

7|}, 710{71ct

OHMAH ~2 FO0l7ict

OfO}E=, OfAH

~O0i| 2|X|SICH

M5

g| XAl 7471

=
o=, 2T, ©

Hixte|

~o=2 YI5{X|Ct

20 = [£4A—tHo7— Level 9 0H7—uT1(001~064)0K.indd 22

® Y p.56

B CiS ezl sHEishs Hof ClojLt Z3S MR,

01

02

03

04

05

06

07

08

09

10

1"

12

13

14

15

16

17

18

19

20

~g} 2, chzo]
27, 27; ¢

A2

HieH
od
s, s

material

carry out

retrieval

along with

sight

entire

make up one’s mind

stuck

indecision

pessimistic

occupy

root

stem

method

signal

alert

significantly

risky

ironically

lack

2020. 10. 16.



17 HHHE sy 7|2Aste Sale] Fl

® NTfp.56

O Cig zt 2xo| 72 Sxjol olstof sHAMEIAIL,

ol

01 When you revisit some place where you spent part of your earlier life, old
memories tend to come flooding back, triggered by the mere sight of a street or a
building that you may not have seen for many years.

SHI0| H2 AJEo| YRS BRH RS ChA J0KZ I, o~ SO HX| RS 72|t 222 B Aoz Zditl= QaiE 7|AS0| ELR0| RlAoh7] &k

02 Even a smell or a taste can help to revive memories from the past.

AX[0] HANLt St= IAHZREQ| 7|AHSS EMOILIA Sl= AS =2 5 AUk

03 In one experiment, American psychologists tested the recall of two groups of
children who had learned the same test material in the same room.

ef A3dollM Ol A2|sixiS0| & oM St AR Xtz 2 SRIME £ OF2| 010152| 7|AS AIRIICH

04 However, for the retrieval test one group returned to the room where they had
carried out the learning, whereas the other group were tested in a different room.

T2t 5t D82 BHE YH T WO SOMHM (712) S HAES We Ui CI2 I8S C12 WolM HASS Y.

05 It was found that the group whose learning and retrieval took place in the same
room showed better retrieval than those who were tested in a different room.

Z2 dolM SEet 314 HAEE Y2 OF0| CIE YoM HAEES 22 JFHC} O 2 (71942) slisk= AeR =aiRrt

06 It's because our brain saves information along with its surrounding environment.

aze 2alo| w7t 59| 2t Bl HEE MEsh| BEolch
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01 If a lobster is left high and dry among the rocks, it does not work its way back to
the sea, but waits for the sea to come to itself

HISIZIRH7H =20 2717t §l= HHR Soll LiHEXIH, HICLE S017EX| 1 HIC7tH 271E 7|CHEICt

02 Sometimes it moves a few inches toward the water but it crawls back again,
seemingly in doubt about whether to go into the water or to continue to wait.

2= 22 Tl B IRl SZ1017|= siXIZHCHA FI2 7|0Zich 27]oli= Soil S01Z Z2UX| OfLIH 7l 7k Z[RIX| Fxish= A 2Lk

03 It never seems able to decide just what to do, and it spends its entire life waiting
and trying to make up its mind.

HIX7ZIRl= o127 SX| 23 ZF5HX| Z5k= X 7|Ci2|HA 0122 Fohs ol 24S 2ot

04 If the wave does not come, the lobster remains where it is and dies.

o=t 2X| o™ HIS = TR0l 2 UCkH =A| E0t

LS—1—

05 Although the slightest effort would enable it to reach the waves, which are perhaps
within a yard of it, the lobster doesn’t move at all.

ofZto] o2 m=of &2 = U=, I ot== ool 2F 10F= O|Lioll A= E7+ata, HIXZIRlk= T SZI0IX| =Lt

06 Unfortunately, the world is filled with human lobsters: people who are stuck on
the rocks of indecision and procrastination.

=W3|= 0] M7= HIRZIx] QIztez J1S3itt, SRR Tetnt 0|2 7]2k= Hh| 2o 7]0] Z5 9431 QU= Al2hS ZoICt,

07 They are just waiting for good fortune to set them afloat instead of taking a risk.

p
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01 Bees perform special dances to tell other bees where flowers are. Fireflies use
flashes of light to attract mates.

=
HESC

]

HE0l7 20| A= RS LEF7| 2l SEE ES FC BIRE0|= BE {617 fleiM HEol= E5S 0|88

rlo

02 Now scientists have discovered another way insects communicate: the “plant
telephone,” which is used by plant-eating insects only.

S SRS ZES0| YMASS Sl CHE WHS WAL = AlE MaP|2ls A2z AlSS B 25S0I0| AlSsh= Xo|ch

03 The ant needs to warn the caterpillar: “This plant is occupied. Stay away from it
III

and go find your own plant!

3 Kol ofofAl ZuE & =T ULk “0] AIE2 HREC] 101, Ta| HojK, J2|7 JpM LHate] MAES ol "ala 2o|c),

04 Since they cannot see each other, they cannot communicate by dancing or
flashing lights

OS2 M2 2 5 V| Hi20l| FS F71LE S HIF=E A== MASS & 271 Sick

05 If the ant emits warning signals, they travel through the roots, stem, branches, and
into the leaves, much like a telephone message.

W07t Zu ASE ditstA, O Ms= Ha|, 7], 7HXIE et $o= HGHX[A| EICh Otx| Mt HIA|X|XZ ZO|Ct,

06 When the caterpillar receives this message, it leaves the plant right away because
the caterpillar doesn’t want to share the same plant.

2|7t o] HIAIXIE BteH ofEel= 22 ASS SRS 20I5HK| 227| =0l HiZ2 I ASS i,

07 How marvelous it is that insects can send messages to each other by using plants

as a telephone!

rhl

SE0| AIES P IXME AEsH MZ0l7| HIAXIS 2= X2 Lottt s2k2 L2I7H
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01 Which airport has fewer accidents: an “easy” one that is flat, with good visibility
and weather conditions, or a “dangerous” one with hills, strong wind, and difficult
entry points?

oL Z8f0| A7t O H271? BEskD, JIANO| 11, HM7HEL “He” Z&I017F? OfL|e o1Eio| Qlm, HiZto| Zst, ZIQ) XI&0| of2R “Qlsist’ 2177

02 Pilots report that the clear, smooth conditions make them feel like they don't have
to take extra caution.

ZFAh= 87 JHo| 1 HWERSE 2 = S8s| F2|S 7|S0|X| 20} ECtu =2Icka

re
0

03 The same principle about safety applies to street traffic.

QFH0fl Chet 22 H2|7t 742|e| uSoll= HEECt

04 The Dutch government made the streets seem more dangerous.

HIZIRIC FR 7421S Of 2I8i5h RS,

05 They got rid of all traffic safety features: no more traffic lights, stop signs,
pedestrian crossings, or special bike paths.

OS2 2= ws A 7|1SS YLt of o)y MSE, FX

r_Z
fob
o

2l B = S XA 227 gls Aol

06 Drivers became extra careful due to the lack of traffic safety measures.

07 Thanks to this, the number of accidents decreased significantly compared to

before.
0| EH20il At 2= Hofl HIsH SAXSHA ZA3HCt.

08 Since the experiment was such a big success, other cities like London and Berlin
started to apply the same method to their streets.

1 A30| (B2 S| HZ0) BCT HISY 22 SAISE 22 Wi Halol M8sh| AR
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01 If we continually struggle with a problem, we block our channel of wisdom and
common sense.

22|71 oftl EMIS XEAo = THBICIH, 22|= X[6|2t 42| S2E XiEheh H2ZICL

02 Most people seem to think that focusing sharply on a problem for a long time is
the best way to solve it.

50| MRIES SHO| 23S0t HAISHI T3 20| SHIS a5t Smol Weiolatm M2t

mr
Hn
ol
o

03 In fact, all this usually accomplishes is the creation of a lot of stress.

M2 o|EA siM BS Al == TRE B2 AER|A0| MAREO|CE

04 Our minds have much more ability to solve problems if they are relaxed and
stress-free.

f2/9| 0kE2 Hotsiu AE|AT} QIS I XIS sHZEE &= U= S20| 24 o TorEICH

05 To effectively solve a current problem, we need to distance ourselves from it.

2ixlel EMIE Mo = siZstaH, X9t H2|E F0{0F BiCt,

06 Whenever anything is too close to us, it is difficult to see with clear eyes.

20| U 77k wjolc S o= B (7t ofzict,

07 As we let go of the problem, the answer we couldn’t see before will present itself.

227t Z2HIE LA =S W oIFoll= & 4 QU sHE0| ME= LiEt Zo|ct.
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01 Monarch butterfly is known to build up toxic substances in its body to defend itself
against predators.

MZ L= ZAXIZRE XS BSs17| 26l S ol =4 SEE SHok= A= Ua{x ULt

02 Any bird that once tried to eat the monarch butterfly in the past will never attack

the same species again because it remembers the terrible toxic taste.

bl

O|Fol| Mi LHHIE Hoaiw A=3IH 0| = A= Cil=E 2
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F=d|, O BRS = ok 719517 =20|ct

LS’

03 Interestingly, there are butterflies that mimic monarch butterflies to avoid
predators.

SOIEAZ, ZAXIE m5t7| flei M LHIE SUUi= LiHIS0[ QUEL,

04 Viceroy butterflies copy the monarch butterfly’s bright orange and black colors.

£ LI A LHIO| He FEm} 2RAe ousict

05 It was once thought that the viceroy evolved to mimic just the color of the
monarch.

St S= LiHI= M LiH|2| Mats RYUSIES FISIRHICD M2 |AC,

06 However, more recent research has shown that the viceroy also tastes horrible to
predators.

J2iLt 2ot 2Ze| = S LH| JA| ZAX0|AI= SRSt otol2)

rr

R

mjo

2o FICL

07 Thanks to these features, viceroy butterflies are less likely to be eaten by predators
which have experienced toxic monarch butterflies.

o[22t SEYS HE0 = LiHl= S42| M LIHIE ZRME ZAIXI0|A| Tot HE! 7Ks540| SO{EEC
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01 One spring, in 1847, a boy appeared at the prosperous farm of a man named
Worthy Taylor.

18473 0| &, Worthy Taylorzt= =XIe| 276t STl st AHO0| LIEHITE

02 Taylor didn't know anything about the boy, but because he had recently fired a
worker and was in need of a replacement, Taylor hired the boy.

Taylor= 11 AH0j| Cish Ok= Z40| QiioLt X2 x5t HE sHuIMAT ChAIE Alzho| EL3M7| mEof O AHS MHEIC.

03 He kept very much to himself.

J= CHE Azl 012 2|X| pERLC.

04 At last Jim gathered his courage and earnestly asked Mr. Taylor for permission to
marry his daughter.

ORI Jim2 8715 Wiof Tayloroil7| 32| it ZES 5{2fel 22l ZHs| 23t

05 He thought that a boy like Jim with no future prospects didn't deserve to be his
son-in-law.

J= Fel MU0l gl Jimdt 22 AE2 10| AR7H 2 X1{0| gicka M2

06 About thirty years later, Taylor was tearing down his old barn in order to construct
a new one.

2F 304 = Taylor= Mz2 3iZts R7| sl 2aEl AS 5122 AUCH

07 On one of the old wooden beams above the place where Jim used to sleep, Taylor
noticed his name carved onto the wood with a knife, James A. Garfield.

Taylor:= JimO| &S X2 JMH X 2I2| 2ajE LT S5 J stLolM Z= LIFo MdA A, 7FEEELT 7T 2| 0|FS 2Tt
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01 When photography came along in the nineteenth century, painting was put in
crisis.

1941710l AREIE0| SEIMS m, 222 f1710l| ML,

02 The photograph, it seemed, did the work of imitating nature better than the painter
ever could.

AIZI2 OEl7IX] 3717} & 4= UAE REC XHS 2UShs 2SO & §h= AXE 2L

03 Some painters made practical use of the invention.

bise ol gaEe MgHo= olgsirt,

A
A
tol

04 There were Impressionist painters who used a photograph in place of the model
or landscape they were painting.

XAS0| J2|3 U= HHO|LE SBE thAIsHA AEIS ARESh= 1t S17HS0] UUC.

05 The photograph was a challenge to painting and was one cause of painting’s
moving away from direct representation and reproduction to the abstract painting.

AIZI2 Jglofl cht =F0In, J2i0] ZIFERI BAleL a0 HoIX FH3IE olSsiAl E siLtel #elol7|= ich

06 Painters were freed to look inward and represent things as they were in their
imagination, rendering emotion in the color, volume, line, and spatial
configurations native to the painter’s art.

152 MR20| LHS HIZIEH o SoA EXishs M2 ALSS Eoidt + A $u, siel 22 TRol M ozt M J2|u S HiX|2 ZES EH5IL,
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struggle
strategy
sensory
introvert
adopt
mediation
mate
species
similarity
extrovert
repetition
exclusively
assimilate

employee

foster parent

clear of

take away

come up with

chop off

deep breathing
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reverse

combine

potential

minimize

productivity

occupy

deposit

inspiration

complement

resemble

personality

boost

competition

involuntary

visualization

witness

all of a sudden(suddenly)

play arole

be notorious for

run out of
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O LIS Zt 20| 2 ZXloll F2I5t0] SHAISIAIR,

01 Our brain cells communicate with each other by electric waves.

f2|2| k| ME= Motz M2 4SS

02 One of the brain waves that receives people’s special attention is alpha waves.

HuE SolM AltSe S8 F=2 Y = siLk= gutmolc,

03 If your brain is in a state of alpha waves, your sensory inputs from outside are
minimized, and your brain is clear of unwanted thoughts and anxiety, so you feel
calm and relaxed.

G| k7t Yutut HEfQ! Z2, AR 2HE2| ZZt 20| X|ASIE|T, ko BX| pi= zint £010] S0 X2t HOrSHEICE,

04 Since the facts stored in your brain are actively combined and assimilated in this
state of mind, you are able to come up with a creative idea or inspiration.

ol2fst Fi HeollM Glo| ol XEE HES2 2dsh Z2elk Sal7| 2o, Y42 Folxol Mzio|Lt FZS MR 4 ULk

05 Some people do it with meditation or yoga. Others achieve it by doing relaxation
exercises, especially stretching and deep breathing.

OftH AZIS2 FHo|Lt 7S SailM IS BICt I CHE AMRIS2 012 25, 58l 2E2|Fo|Lt HSES S8l aXE H=Ch

06 Next time you run out of creative ideas, try doing a simple exercise and listening
to soothing music.

CHSoll &elxiol ofo|c|of7t HREX| oM ZITet 2SS st 2122 F= S2= S0 Hol2l.

07 Maybe alpha brain waves may work to pop up a good answer!

ojo} im} kju}7t ASsiy Z£2 HES HREH x| Z2CH
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01 Have you ever had a moment when you look at someone and all of a sudden feel
like electricity is running through every part of your body?

FE7IE B0 YR | F717t 32| RE BEOE S2& AXY L7 20| UB=I?

02 Chemistry plays an important role in love, but chemistry alone is not enough to
get people to achieve a long-lasting love.

33t HISS A0 U0 SR S BRI, B3t HIS FLIZIORE 9o XIARI= AYS 012E o S5HX| 4L,

03 The first is how often we see a person.

A Hnl= oLt X O AfE 2=710]ch

04 The more we see someone, the more we become attracted to that person.

fil= 727 AF BH 245 O A7 o S2(7 ok

05 The second is how many interests we share.

T W= ot B2 SHAE S|S0

06 If someone has the same hobbies as we do, we are more likely to fall in love with
that person.

O =27t 22let Z2 F0IS 7HX|1 UCtH 22a|= 3 AlZtat AR X717} o Ech

07 The third factor is how well a person’s personality complements our own.

N i 2012 3t AlZte| JZjo| 22| ZHe| HAS HofLt & B2A5k=710]|ct

08 Dr. Hobart says that if a potential mate scores high in these three categories, there
is a good chance of falling in love.

Hobart AR EIRHEIO1 B0| 0] M| 7HX] HZ0I £ F4S Wrta Aol B 7H540] frhn Wsict,
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01 The European cuckoo is notorious for the habit of depositing its eggs in the nests
of other birds and leaving the work of childcare to the involuntary host.

e W7IS2 CHE Mol SXol| 2= 3 HIXIUERl SF0f7| K018 B7|= §82= AF =rt

02 The cuckoo chooses a nest whose owner has just started laying eggs, takes away
one of their eggs and lays her own in place of the egg.

7= Felo] &t = 7| AlEfet SXIE 2t 3 ¢ F SHE M7{st = xpile| = il F=Ct.

03 It even lays eggs that resemble those of its host to make sure its eggs are treated
like those of the foster parent.

OA2 HX|of ZRof go| YRmo| et SUSHH| ChaliXl= HE S 57| flehiM =32 Ut HIZSHH 471 US 'F=rt.

04 This egg hatches a little earlier than the other eggs of the nest owner, and
eliminates competition by pushing the rest of the host's eggs out of the nest, so
that the parasite can exclusively occupy the whole nest.

0] 22 57| Folo| i er} o7} of QB 3N 5210) LiotR| 252 SX| 41O Hofuf ZUNIS HPIRIOZ 1714 S20| T4 SR 6] AR 4 2 B

05 This strategy, known as brood parasitism, is not limited to certain cuckoos.

El2fol2tn L2l o] MER2 S 37 |of| 7|2t SFYEl= X2 Ofch

06 Nearly 80 others, including some ducks, cowbirds, and honeyguides, lay eggs in
the nests of other species.

EZR 22|, M=22|7| 32|10 BXHOIMS =3l 72| 80F2| MS0| CIE 52| SX|ofl ¢S Ze=Ch
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01 In 1913, however, it was struggling because of low productivity.

J2{LH 191350 a2 2 Yitdez o222 730 UACL

02 Since one worker had to put all of the car parts together, it took a long time to
produce a car.

gt gl 22Xt 2= XSkt RES ZEsH0F 37| 2ol XISAIE Aitshy| flsi 2 Alzio] ZRiC.

03 There were butchers waiting along the conveyor belt, each responsible for
chopping off a particular body part.

ZH0l0] WES utat SEUAP} 7ICkE|D Um, 5 KK B S5 SIS A2 0| Uitk

04 So as the conveyor belt continued to move, the butchers cut off the body parts of
the animals one by one until there was nothing left.

J2HM Zid|0]o] BETL 7L SZI0|HM =EXUXI= OIFAE HX| S W7HK] SEQ| & F /IS SLiSILI ZRiT

05 As the Ford employee watched this long process, he suddenly thought of a great
idea.

T Ford Z120| 0] ZI S XIAHEE SO, UX7| E2 O0|C|0E HZIsHRiCY.

ml

06 He took this idea to the Ford managers, who decided to adopt it.

= 0| O10|E|0IE Ford XAl 7kMZ4L, OS2 OIS AHEst7|= ZFIUCE

07 Ford’s assembly line is a great example of invention by analogy, or finding
similarities between two different things.

Ford2| Z& 2l212 RAHY 3710l 28t = & JH2| CIE HE Al0|ofl FAFES W2isio] WS 8t 0lF Z2 ojlojct.

08 AsThomas Edison once said, one of the most important qualities of an inventor is
a logical mind that sees analogies.

E0pA oflc|£0] 7t LSiR0|, Wt 7HY SR8t XH & Sibis RAKY RIS & + U=

rr

2% Atzo|ct,
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migrate
approach
capacity
neutralize
altogether
rarely
adaptive
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electron
enhance
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maintain

behavior

harmful

composition

herd

viewpoint

indoors

male

improve

positive

defect

unstable

talent

maximize

generate

clear Aof B

build up

distinghish A from B

transfer Ato B

have an effect on
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O OIS Z 232 =2 =Xl 72/t sHASHA 2.

01 They rarely touch soil or plants.

as

rlo

ot

O|Lt M= 7{2| BIX|X| §4=Ct,

02 This lifestyle has harmful effects on us.

o] Mg S¢=2 22|07 si22 Feks 7IRIch

03 Our bodies produce a lot of harmful electrons during their metabolic processes.

22l9| Z2 MEIChAL BFYol|A B2 Ralfet TAE Adstich

04 However, there is a good way to prevent harmful electrons from building up.

J2{Lt si22 Hxpt S0l Hol= RS U=

O

= Yol ot

05 By “earthing,” or touching soil, we can transfer the harmful electrons in our body

to the earth.

i e =
Al & F2 2|

rir

HOE 22|0| B ot Ui 2 MAIS FO2 B £ .

06 If they meet negative(-) electrons in the earth, they neutralize each other.

orel 774

2 aRS0|

ok
1P

ol U=

mjo

TXIE LLIH M2 S35t Eich

07 Try walking outside barefoot, or spending some time sitting on the soil.

U2 giol|lM Zo] 274LE Foll etot Holzt AlZHS HELY 2otz

08 If you do this on a regular basis, you can clear your body of harmful electrons and

become healthier.

TFAIXOR 0|22 513, ZAI0| S0 U= HZS FAIS UKD o HLSHT 4 ct,
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01 For elephants and lions, when males approach their breeding age, they leave their
herds.

T7|2IQt AFKIQ] AL, 4712 HAl XMZ 7|7} CI7IRH R2|S MLt}

02 They leave their family group to search for a new living community.

rlo

MZ

e SSHE 37| 26l 7152| F2I5 mHTh

Ho

as

03 From a biological viewpoint, it is an adaptive behavioral pattern to minimize
inbreeding, which is the mating of animals from the same family.

mjo

2SI,

LJ

=M ZslolM IA2 ZEwHIE FAsEl s HSUS FAlQlH, IN2 L2 71 oM WAVIE dh= A

04 Biologists say that inbreeding is more likely to produce offspring with physical
defects.

MESIXS2 ZEwkli7} M Zalo| A= XKES 2|7t Eota it

05 On the other hand, if the animals mate outside of their community, they will have
a better chance of producing healthier and stronger offspring

HiH0| SSH| HHollM WAV IS slH o 2ista et XS S 71540| F0F Ao|ct,

e}

06 Although males leave their herd at their breeding age, they don’t leave family life
altogether.

HIE %2 WA |0l F2|5 MLEX|2F 2FS| 715 WES ML= A2 OfLICt

07 Instead, some of them might move off and join another family or move from
family to family.

LA O & 5= HUM THE 71E0 #X|74LE 7150IM 7HEC =2 0|SE & ULt
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O L= Zt 289 H2 X0l F2I510 sHASIA L.
01 According to biologists, there are billions of bacteria inside your gut.

A JHe| Hj2[of7} ALt

rr

2 2to|

HESIXS0| W=H, ol A}

02 They play an important role in maintaining your bodily functions and health.

= RXIshs ol 28 JS it

ads2 A 7 Isat 7

03 Different bacterial species have different tastes; some prefer sugar and meat, and

others love fruits and vegetables.

CHE TS0iCH 7|S7t Ch2Ch o H2 88

04 The bacteria in your gut were formed while you were in your mother’s womb.

Z 2E|2|ok= g210] ofHL2| XZ0 U= St FE=|RAC

05 However, they can change depending on your lifestyle.

| g &R0l Wt 4 ik

JajLt IS T

06 So, the gut bacterial composition of obese people differs from that of slender

people.

[H2EA HIZH! ARZLS| FEf|2|of 714 QA0 HHISH A}

A

07 At first your bacteria control your diet, but later your diet controls your gut

AlS 0| FLY He2|okE SISkt

=

bacteria.
Al

SHS SHISHKZ LESol= gle

MS0ll= LE|2|o Fhlel Al

40 | READER’S BANK

2002l e{A—Hoa— level 9 0HFT—uT1(001~064)0K.indd 40

2020. 10. 16.



® =g p.59

O LIS Zt 23| F2 SXl0ll R2I5t01 HASIAIR,

01

02

03

04

05

06

07

One unspoken truth about creativity —it isn't about wild talent so much as it is
about productivity.

Zolojl chet Fe1e| T shitk=, 2740] S0[8 xS0l 2heh 2402t =t AAkyol 2hst Z40(2k= Folch

To find a few ideas that work, you need to try a lot that don't.

17} Q= 22 OlOICINE 37| ffsh 217} gl W2 OIOICI0SS Al=sl 2 227} Jlct

Geniuses don’t necessarily have a higher success rate than other creators; they
simply do more — and they do a range of different things.

MS0| HIEA| CIE FAXISECE S E0| =2 A2 OlL|C, OS2 EHX| of Bo| A|=3ict, 2|3 352 29| 62i7iX| LSS Bich

That goes for teams and companies too.

2 Bt SAME S M EICE

It's impossible to generate a lot of good ideas without also generating a lot of bad
ideas.

=X |
=

242 Ol0|C|01E BL0| BHSO{LHX| g4 2 010|C|01S RO| TSOjLi= X2 E7SsITt

The thing about creativity is that at the outset, you can’t tell which ideas will
succeed and which wiill fail.

Zol=ojl 2tet 3t MZ0il= 0 010|C|0f7} HSEX| OfiH Z40| HIStX| & 4~ Qirt.

So the only thing you can do is try to fail faster so that you can move onto the next
idea.

mf2p EhAlo] 8 4 9k
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9'T_u
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TS A2 CIZ 010[CI0Z FojZ = A=F O ¥a| Aufjstzin L2lsh= Aolct.
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confirm
capable
performance
suspicion
guarantee
poorly
benefit
apparently
faulty
trustworthy
existence
claim
transaction
revolutionize
device

be exposed to
turn to A for B
conduct a study
receive credit
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witness

blunder(mistake)

sponsor

transparent

evaluate(rate]

bribe

represent

pose

distort

serve

advertise

merit

subject

outstanding

insight
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make a deal
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make sure
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Every day you are exposed to claims based on “studies” and “research.’

I G2 ‘HTLL ZAFE 2742 she FEl| =S50f UCE

In evaluating such claims, there are two important questions to ask: Who
sponsored the research? Does the sample properly represent the target
population?

e
nl-
ir
N

J2{5t FES TIIsHE Hl A0f 20{0k & F 71X| £28t Z20| QICk HIZ 1=7H 3 RAE SHMEIN O BE2 BAHEHS HEH iEsta L=7170ICk

The first question is important because sponsors have ways of distorting, or at
least influencing, results.

A 2= F7| 20 Z28t EF0Ic,

rlo
ol

BAPE5| ZtE fi=strL, F[A Zulol|

goll
ruTé

A study that claims to prove the benefits of milk-drinking should be regarded with
some suspicion if the research was sponsored by a milk company.

B2l 22 SUL st HTEIH PR ORI HO| 02 YSHICKD THsH A7 of HE OIS FRIT Bio} Bl

No less important than who sponsored is the choice of samples used in a
research.

7t FHE =X ZX| 947 28 A0 HiZ Aol ARSE #=22| MEHo|ct,

Ir

If the claim is based on samples that cannot represent the whole target population,
it is likely to be faulty no matter how many cases were studied.

otob 1 FFo| x| EHECIS tiEsiX| Zoh= EES 272 SICHH, 0lF2] B2 AFIE SH734C} Sie2t: S8 715480l Ut
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= 2Kl 72l SHASHA L,

Subjects of a study were asked to listen to tapes of college students who
participated in the television show, College Quiz Bowl.

TSRS S Wal|X 201 TS} X S0l A7Het (iSOl B0|ZE SEE eFwe

re

A2

They listened to a student, who was described as highly capable, answer almost
all the difficult questions posed.

OS2 I 7S5 2ALE H0| MAIE 72 2= o2

S0l EE sl= A2 SUCL

After hearing the tapes, the two students were rated in terms of likability.

Hy

rlo
fob

A=0l| 2ot HoHE AL

JHoZES2 2 F

Jon

The student who gave an outstanding performance and answered nearly every
question correctly was liked significantly more than the student who performed
more poorly.

Cl MZshA| s-lish SHIEC ol Huis Lo 72| 2= ZX|ofl %7l §S st shlo| 483s| of MSEIRIC.

Another study was conducted again; this time both students were highly capable,
but one blundered while the other didn’t.

I CHE 77} ChA| ZIBEIZH=T, ORolis & 51 BT O§2 RSFUKIDL 3t B ALE 5t B3 C12 SIS 51X QRlC

It was found that the capable student who occasionally made mistakes was
considered even more likable than the capable student who never blundered.

S0 7K A4S 5t QS3 SHN0| B o 72 W o2 cajyrt,

Apparently, making minor blunders served to humanize the brainy student and so

made him more likable.

AAst M5 sh=s A2 £E6E SIS QIZIX0| E[A| she | 7|03 J2iM 35 o $ZH0| 7I=E HEAS0 2Fsich
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O [ ZI 22 72 SXloll 72l510] siAM5HAL.

01 When you lend your friend money, what do you do to make sure you get it back?

A2 2T =S UHE W I == YEA S| flsiM oL =717

02 Maybe you would ask someone to be the witness.

ofo} F=Z71ofA| 20| E|0f Hata HErst  QIof

03 Later if you ask your friend to pay you back, he may act as if he doesn’t know what
you're talking about.

S0l 20| £2 Zoatm 518 I 0fx| SHAlo] 24
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04 He may say that he doesn’t know anything about the transaction.

= 3 7zHofl sl Off A= BECk: 2t 4~ QUCt,

05 The new technology is blockchain, which eliminates transaction risks like this.

I AMJE2 E8X2102, a2 o[ 7zl YIEES giict

06 Once you make a deal over blockchain, this data gets shared to millions of online
networks all over the world.

gLlo| EEHIRICR S stH o| FEE H MA| WDt JHe| 22i01 HIEXS Hojl SF77t ZCt

07 If you only have one witness while making a deal with your friend, he can be
bribed easily.

oo 7{alofl B 3t Fo| Felat CtH Ji= & o 4= ULk

08 With such a risk-free factor, blockchain is expected to make our society more
transparent and trustworthy.

J2ist 223 4= sl EEH|2I2 22| AlS|E o £stu »IS Bish| BHS Ho|ct,
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01 Who gives scientists the inspiration for great scientific discoveries?

TEIXES A Sichsh nfsts WA st S F= AR

rlo

7001

02 But the fathers of modern science—Newton, Gilbert, and many other scientists—
were wise enough to turn to these common men for new insights.

J2{Lt i 21510 OfHX[2t & 4~ 4= Newton, Gilbert, 7[Ef T2 B2 TSIXIS2 S35 Eoii| M22 SEEIS 27| 6l 0121 TS MRSl 2ARRACE,

03 Some believe that Newton came up with his Second Law of Motion by observing
workers using these devices.

U AZIS2 Newtono| 0[2{3t FHIS ARSI =SAISS BEBIOEM 250! M 28AIS M2ts) Wrtn ofict,

04 Gilbert similarly receives credit for an idea that wasn't his.

2
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05 An unknown sailor suggested the existence of magnetic poles at the top and
bottom of the Earth.

re

FHo| MEo| x|722| Zrh7|2f ZHIEl| XIF0| EXHBICHE 2 7L

06 Gilbert heard this suggestion and made it the basis of his research on magnetism.

Gilbert= 0| 2|72 =11 12| XHY HFe| =72 AULCH

07 But few of us know that only with the help of common workers were they able to
revolutionize the scientific world.

J2{Lt OS0| Y L-FXo| =Fo =0t meh|of Sils Lo 4 UMUCKE AE 22| F ol= ARIE2 72 gl

46 | READER’S BANK

202l c{A—uHoa— Level 9 0HF—uT71(001~064)OK.indd 46 @ 2020. 10. 16.



unT@  Word Practice

A CI2 o TlofLt ESO| Q2| =S MAIL,

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

20

organism
consumption
prospect
cultured
purpose
nutrient
launch
quality
remove A from B
appetite

rush

flock

lie in
shortage
extract
substantial
evidence
process
exceed

in need

=71

AH

2H|

xob

o

(MIZ - O 4=0]) HHYE

2
1

]

08

oA

FAF0l UZ) ARSI At

Jm

Xl EM
o, 5o

BOlM AE HI7{sICtH

1z

2
c=1

=Zsict, MFEC}

wix|of 7ich; 2o|ct

~0f| =0{ ACt

24z
=2-

I

FEs|ICha=EsIChEEFSICH

g, =sict

=

ol
re

f S

2002l e{A—Hoa— level 9 0HFT—uT1(001~064)0K.indd 47

B

01
02
03
04
05
06
07
08
09
10
11
12
13
14
15
16
17
18
19

20

® ZHTp.61

LS al2oll sigsks Sof TojLt #HE MA|2,

7tFCh ez Fot
Ch ME{2(Ct, SLCh

X|&EICH opx|ate]

volume
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02 First, you cut out a small piece of tissue from an animal.

A, G2 SEAM 22 MZ ZEIS H|0JHCE

03 You then place the tissue in a cultivator that mimics the inside of a living organism.

SRR T3 S 1 XS MERo| LSS DUt s | ot Ect

04 You provide the cells with warmth, oxygen, sugars, salts, and proteins, and

cultured meat eventually grows big enough to eat.
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05 According to scientists, cultured meat would require about 40 % less energy to
produce than the same volume of pork or beef.

SIS0l MEH HUYS2 22 Y| HiX|n 7|2 A7 |20t WMSH= o & 40%2| MUX[7H =7 ECt.

06 Since people’s eating habits don’t change so quickly, it will probably be a while
before cultured meat becomes a common menu item.

AlZS2| S22 T e HEEX| ¢7| 2o sHs0| Lt Hiw2| 3t E=0| =|7|7EKl= otot AlZto] #f Z& Zojch,

=

07 Nevertheless, the demand for cultured meat is expected to increase gradually
since the supply for real meat will soon become unable to satisfy the growing
meat consumption.
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01 The National Cancer Institute has launched a campaign called “Enjoy the
Spectrum?”

22 o HIAL ‘ATEMS Z7{2)ElT 2a|= HHQIS ARIBHCT

02 Its purpose is to encourage people to eat fruits and vegetables of many different
colors.

2ol BX2 ARIS0| Chsst Mol Tl HAS HES HESHE Holc,

03 When our body digests food, it produces a harmful waste substance called “free
radicals”

2ale] 20|

0jo

A2 ASIAZ M, JZ2 Y MAELD S8|= Rl LHIES BHS0] HCh

04 If our body cannot remove free radicals efficiently, they can harm our cells and
affect our body functions; they can even cause cancer.

22|2| 50| 2y MAS FEXOR Mg + UCHH, IRS2 MES £8A7|1, AH 7|50 G2 £ o Uen, HXI0 S Lo 2k It

05 By eating colorful fruits and vegetables you can easily remove these freeradicals
from your bodies.
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06 For example, red fruits and vegetables contain a powerful substance that helps
reduce the risk of cancer and heart disease.
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07 Think of your dinner plate as an artist’s palette.

ClUE HAIS o712l ZEata Y2istat,

08 The more colors you see, the healthier the dish is

® HTfp.6
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01 A lot of companies are flocking to Pennsylvania, where shale gas and oil have been
discovered.

B2 7|GS0| M 71AQ 29l0| wdE! HAH|L|OlZ 2 51 UCt

02 Shale gas and oil are natural energy that is buried in a kind of rock called “shale.”

M 7tAaet @2 Migojatn E2|= Mo US| 25 U= e ol x|o|ct,

03 Luckily, the amount of shale gas and oil buried in the US is large enough to last
100 years.
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04 The problem lies in the extraction process of shale gas.

ZHl= MY 7tae| =5 3hEof| Ack

05 To extract the gas and oil, people use a drilling method called “fracking.”

7tAet 292 FE517| lsl, ARIS2 ‘TaiZ'o2t S2l= Al WHE ARESICL

06 In this process of fracking, they drill until they reach the shale trapped deep in the
earth.

Ol 2z IOl IS Holl 20| 25 U= MU S UK FHS Feo,

[E

07 Then they put pressure on the rock using a large amount of water in order to break
it and release the gas and oil.

J8 Chg O52 YME Fal 7tAR 2US WEsty| flsi B2 2| 22 0I18siM iAol =S 7I8Ich

08 This causes water shortage and can even cause earthquakes near the shale energy
mines.

0|A2 & BES op7[stH M oflLX] 24 ZXofl XIEIE Yo & QU
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O LS Z 282 &2 2Xiol| F2l5tH SHASIAL.

01
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06

Psychologists who study giving behavior have noticed that some people give
substantial amounts to one or two charities, while others give small amounts to
many charities.

715 $91E 7SI ARIAISS Off ARRISS AEIRI OIS B S X1 Eifio] 7/5i51s Ut CIE RIS Adke B2 X4 Ciijo] 7|SiBicks S0l F25 Sict

Those who donate to one or two charities seek evidence about what the charity is
doing and whether it is really having a positive impact.

of 5 Xk EfAlol| 71F5k= ARSE2 O AR BHAZL £& 22 SheX| T2|u A2 X! S 7IREX|ol| thet SHE FH=Ct

If the evidence indicates that the charity is really helping others, they make a
substantial donation.
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Those who give small amounts to many charities are not so interested in whether
what they are doing helps others.

2 XHM Elof] AMS 7|R5k= ARIS2 O50| k= Yo| CHE MZHollAl =20 ==Xl ChisiA= JCkX| 2o gict,

LS’

Knowing that they are giving makes them feel good, regardless of the impact of
their donation.

a=2| 7|7e| Fekuk= MRG0l OS2 7|18 E 5t th= RE Ok A2 = 7120 EO0KEICE

In many cases the donation is so small that if they stopped to think, they would
realize that the cost of processing the donation is likely to exceed any benefit it
brings to the charity.
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